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APRIL 2017 60136/BTZ4A/ 8.  Give formula_to find out chi-square value.
BTC4A g v@smuir wHleu sarsdNeugharer GsSrsms
&(Hé. -
9.  What is optimal.solution?
Time : Three hours Maximum : 75 marks il Rt B N
2 5105 Sitey eTenmmed erama?
PART A — (10 x 2 = 20 marks) 10. What do you wunderstand by transportation
nV
Answer any ,Ew.z questions. problem? , . .
1.  What is secular trend? QI:&@@@.@ e L Betl ww_mw_@._@ HTSiI?
Beim_ ae» Guiné erempnés eraineri? 11. List out the types of hypothesis.
2. Give any two uses of time mmﬁmm nw_@_sqg.@%g o s s S
12. What is a seasonal variation?
srews Cgm_Mer EE%E:@&%@ QQH@_E @qaﬂg_l N
5. LI(HE &Te) LOMMISEOSHET GTETLIg) Wil ?
3.  Define Index number. PART B — (5 x 5 = 25 marks)
] i Answer any FIVE questions.
_ GOWILQ erair cuemugy. ; A .
, i LA e B 13. Given the trend equation
e e 1y EviTIe Jncex Y, = 26 + 2.8 X (Origin : 2003, X unit = 6 months)
aumpsams GO {H Qe uDH %E GOILY eTpgs. :
You are required to convert this to a monthly
5.  What is event? | trend equation. ;
HlEPe| eremited eremen? Guns@ Fwerun( Q&:@mmcr_r@gqg@
6.  List out the various approaches to probability. Y, =26 + 2.8X (Campp1b:2003; X <o = 6 Sqmﬁaﬂv
. Bapsseien LdGay SigGQ@DsmeT UL L Hs. Pamar 11y CuIsE FoaUTLIE  WLIDHIUSHE
7.  What is random sampling? 2 rsemer CamyliLB&ng.
ST s T cremen?
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14. Taking 1999 as base, the index numbers of 16. Is a correlation coefficient of 0.5 significant if
wholesale prices for a commodity are given below : obtained from a random of 10 pairs of values from
) _ : . ion?
Year 1999 .2000. 2001 2002 2003 2004 2005 R Coplator
. ‘ gngmyen Gloms & Qumiiul L 10 Comg ser
IndexNo. 150 180 240 300 309 330 360 ERik giie ? M@ @@%wqrqce “as ww%g@
Construct a new index number taking 2002 as Gupu@eig? A ;
[ . : 17. Solve the following assignment problem :
1999-b y@men SinliueL wis aBsss Carar® 1 2 38 4°
@ dunmerssnar Cwrss eflae @@.@l@ erewr &C1p Al10T12T19 11
Qmﬂ@JEQEEr@ag@ B 5 10 7 8
2 e(® 7 1999 2000 2001 2002 2003 2004 2005 Cl12 14|13 |11
GOS@aam. 150 180 240 300 309 330 360 . D| 8 15[11]9
v . . Gereupeuareupiler QmHg pHEELH Hssma ey
- 2002-1b e SigliueLwuns ahEss Qamemd e
AW GO R ereirenent semTaslH. i Nop gy
15. * One card is drawn at random from a well-shuffled Al10|12]|19] 11
pack of 52 cards. What is the probability that it Bl5 10l 7|8
e Cl12|14 |13 |11
(a) adiamond
D| 8 15|11 9
(b) aqueen?
peE sesslLLL 52 sieLsaid @@.a@_ mw@ 18, Write a Bayes’ theorem of probability.
sioLa@ésiulLg. Qs Blapgseiier Cuweh Cam_um e epgs.
SEIL Fenl 19. From the chain base index szvmum given below

(=) mexfluns  Q@Bsted Hapsse Tarareuns
BEEE0L?
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prepare fixed price index numbers
1991 1992 1993 1994 1995

100 130 140 110 160
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20.

23.

&G . Qen@&siul@erer  Qsrif  SjqliLen
GO QLearsaila @mhg Hamawrar elama @Bl @

erenTenewT HUImiT Glew.
- 1991 1992 1993 1994 1995
100 130 140 110 160

PART C — (8 x 10 = 30 marks)
Answer any THREE questions.

Calculate the four-yearly moving average for the
following data : :

" Year 1994 1995 1996 1997 1998

Production 464 515 518 467 502
(in ‘000 tons)

T 1999 2000 2001 2002 2003

Production 540 557 571 586 612
(in ‘000 tons)

.

Gemeumd efleupiasels QMBE BrenG HaT® BamHL
Fymaflenw Sassl(. .

<6 1994 1995 1996 1997 H,ww.m
WE:&DL 464 515 518 467 502
(000 Lensene)
<4 () 1999 2000 2001 2002 2003
.&E:EDL 540 557 571 586 612
(‘000 L_ésafleh)
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(0 The total of the numbers on the dice is
greater than 8,

(d) The total of the numbers on the dice is 13,

(¢) Both the dice shows the same number.
Qran® samser eleLGHamg. Hepssmen samsd®.
(=) Qurss ampsafler erammentlsms 8

() s sap 6-g.51_Hng!

(@) Qurss smpsefler aarafsms 8-5@ ASewTs

BOEEDLELTKS .

() Qurgs samsaflen cramaniéens 13

(2) Qraw( 8 15 (EHLD .@Qq T GBoT G Gt
sT_OLEumpg). :

Oﬁ.:.\ of 8,000 graduates in a town 800 are females,
out of 1,600 graduate employees, 120 are females.

Use 7 to determine if any distinction is made in
mv@owREobﬁ on the basis of sex. Value of z* for
5% level for one degree of freedom is 3.4.
pETsse eerer 8,000 wulLgnisafie 800 Gur
Quamser, 1,600 vl grfl eamfwirsefies 120-Cur
Quémadr x°—g LwaURSE b Caupgur@aefigib
unelengems erHe @iglinerw@eo GAss Ceuam@ibd
cauems sasd®. 5% Howss e df-6@ 1 —a
wli 3.4 H@W.
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21. Calculate the Laspeyre’s and the Paache’s Index
numbers from the following data :

Commodity Units consumed = Price per unit
2006 2007 2006 2007

A 20 16 12 20
B 35 38 2.1 24
C 10 9 30 41
D 45 50 08 1.2

And also calculate Fisher’s Ideal Index.

Yereumd efleugrisamar Qaran® CaavQwir wHmib
umevd GO AP ereirsamer seTéH ()
AummeT mIsT6e| SIDGHET QM ADGESTa elamen

2006 2007 2006 2007
A 20 16 - 1.2 2.0
B 35 38 2.1 24
C 10 9 3.0 4.1
D 45 50 0.8 1.2

Cogib Yegi—ar Apbs GO Wb sarsd ().

22. Two dice are thrown. Find the probability that
(@) The total of the numbers on the dice is 8,
(b) The first die shows 6,
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24. Determine an initial basic feasible solution of the
~ following transportation problem using least cost

method :
Factory Distribution Centers Capacity
5 . ~ | (Units)
Bangalore | Mumbai | Delhi | Chennai

Ahmadabad 6 8 8 5 30
Ernakulum 5 11 9 7 40
Hyderabad 8 9 7 13 50
Demand 35 28 32 25 120
(units/day)

B SiL&s alevad (perpenwl LTRSS SemeunHid

Curs@eurss — Ses@QsE  <PTOU gLl
gnsdwwren Srane sesd [ :
D, uélitey Blenaoiid Qg mememeTay
, . . (Dogsaflo)
Quiisest | epbumd | Queéed | Qearaar
DIBLSTUTS 6 8 8 5 30
GTiTemTT(@ e 5 11 9 7 40
MADSTTUTES 8 9 7 13 50
UDOTES®D 35 28 32 25 120
(SIEsar/
BeT RANES)
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